(B Xl 22 R)

LB iZEIEE (FH/m) S
I S iy m T XRTELEEE(%) 2k E DR ER—
T E & K Hh 5 D
E = m| 30.1.1| 3111 211 311] 4141 . Brk | RIEE | B
30/29| 31/30 2/31 3/2 4/3 R (%) &5
262 267 271 268 271
-1 |H%& =TH17&165 79 1ERE | #p5 | 300 | -3
0.8 1.9 15] A 1.1 1.1
243 245 248 246 248
-2 (=% —TH2%6E 104 2chE | #[5 | 200
0.0 0.8 1.2l A 08 0.8
252 256 260 258 262
-3 |(thEzhE —TH10&125 124 2(XF | #B5 | 300
0.4 1.6 16/ A 08 1.6
211 211 212 210 210
-4 & =TH14%B45 111 IR | %R | 200
A 05 0.0 05| A 09 0.0
213 213 214 213 214
-5 |(Hf —TH10&E25 79 #T | #RB5 | 200
0.0 0.0 05| A 05 0.5
240 248 264 263 270
-6 |[KFx —THOH4S 54 21kfE | #F5 | 300
1.3 3.3 65| A 04 2.7
—————— 200 201 200 200
-7 |mwE —THES&HIS 65 #T | #[R5 | 200
———————————— 05| A 05 0.0
182 181 181 180 180
-8 |EE —TH6EZ10E 58 EE | %R | 300
-0.5 A 05 00| A 06 0.0
357 364 393 389 394
5-1 |#X mTH12%&SS 172 mE | #F5 | 400 | 5-1
1.1 2.0 80| A 10 1.3
375 391 446 442 451
5-2 |ikBx —THS5&195 162 mx | [R5 | 600
2.2 43 141] A 09 2.0
213 212 211 208 207
5-3 |/\IEE —TH15%&25 67 EEE | #R5 | 300
A 05| A0S AO05 A14 A0S
322 327 342 337 339
5-4 |=%& —THB10&275 89 (SE SN 400
0.0 1.6 46] A 15 0.6
_ 96.6 97.2 98 97 99
9-1 |f8lF —TH1&18& 1,322 I% 200
0.8 0.6 08 A 10 2.1
205 205 205 203 204
9-2 |#X ARTH5&E6S 264 #T | #[R5 | 200
0.0 0.0 00| A 10 0.5




(KRIERXH 22 7R)

LB MR (FA/m) i Hh
I S iy m T XRTELEEE(%) 2k E DR ER—
T B R F L F=10))
® £ m| 30.1.1| 3111 211 311 411 o Bk | RIEE (B
30/29| 31/30] 2/31 3/2 v #Ha | (%) (B2
169 168 167 166 165
-1 EE AETHSEOE 69 1EE | #F5 | 200
A06| A06| A06| A06| AO06
184 183 183 182 182
-2 |4t —TH13%F205 151 MERE | %85 | 200
A 05 AO05 00| A 05 0.0
192 192 192 191 191
-3 |8 —TH9%H45 56 1R | %R | 200
0.0 0.0 00| A05 0.0
203 204 205 204 204
-4 |=ZHR®E ATH3F2E 131 21X | %[5 | 300
0.0 0.5 05| A 05 0.0
192 192 192 191 191
-5 RE MTHI6&E165 73 1B | #[5 200
0.0 0.0 00| A 05 0.0
326 332 348 347 349
5-1 =BxXHE —TH17H205 46 GEES 5] 400
12 18 48| A 03 0.6
87 87 87| 866 87
9-1 LtEmME —TEBE171E7S 801 ITH | %M 200
0.0 0.0 00| A05 05
70 70 70 695 70
9-2 |FE —TH4E3BS 4,266 I% 200
0.0 0.0 00| A07 0.7
131 131 131 130 131
9-3 |/I#FEE ZTH19%ZI8E 330 T | #R5 | 200
0.0 0.0 00| Ao08 0.8




(REFRMMELAR)

LB iZEIEE (FH/m) S
I S iy m T XRTELEEE(%) 2k E DR ER—
F B & T i =11))
E = m| 30.1.1| 3111 211 311] 4141 . Brk | RIEE | B
30/29| 31/30 2/31 3/2 4/3 R (%) &5
381 384 394 396 399
-1 [#EMR —TH2%255 200 21kfE | #F5 | 300
0.8 0.8 2.6 0.5 0.8
580 582 623 629 640
-2 |EAFRET10E 65 119 2che | #[5 | 300 | -2
0.3 0.3 7.0 1.0 1.7
392 397 415 416 418
-3 |B4ZE —TH4FE75 236 21kfE | #[5 | 400
1.3 1.3 45 0.2 0.5
421 426 446 448 452
-4 |IREET3HE IS 117 2(XFE | %[5 | 300
1.4 1.2 4.7 0.4 0.9
A 444 446 457 460 467 .
-5 |[fslL —THBE3%285 146 212 | #[5 | 300
0.5 0.5 2.5 0.7 1.5
680 730 786 802 855
-6 |L#% mTH4FE2S 1,493 21kfE | #[5 | 400
6.3 74 1.7 20 6.6
477 484 504 505 509
-7 | XK =THe&65 113 2(XFE | #F5 | 400
1.5 1.5 41 0.2 0.8
546 558 596 599 603
-8 |LAXHET /\TH6&H145 142 (X | %R | 400
2.1 2.2 6.8 0.5 0.7
787 865 958 927 927
5-1 | EXHET /\TH3%F4= 333 mE | B 600
9.2 99 10.8] A 3.2 0.0
999 1,120 1,270 1,210 1,200
5-2 | EXHET RTH2%265 404 (SE SN 800
9.7 12.1 134 A 47| A 0S8
726 793 880 838 838
5-3 |E&THT28E315 222 HE OB 600 | 5-3
8.5 9.2 11.0] A 48 0.0
272 273 274 264 258
5-4 |E&THI7HEL S 143 (SE SN 600
0.4 0.4 04] A 36| A 23




CRE X #i i 23 7R )

LB iZEIEE (FH/m) S
I S iy m T XRTELEEE(%) 2k E DR ER—
T E & K #h 55 D
E = m| 30.1.1| 3111 211 311] 4141 . Brk | RIEE | B
30/29| 31/30 2/31 3/2 4/3 R (%) &5
" = 341 369 400 397 405 . .
-1 |#%JIl —TBH4FE 125 678 #T | %[5 | 300
7.6 8.2 8.4 A 08 2.0
680 850 1,050 980 970
5-1 |xBT =THE1&45 849 [SE S 971 600 | 5-2
17.9 250 235 A 67| A10
370 451 545 491 487
5-2 |HEEER —THEI171H145 164 BEE | O[5 | 400
12.8 21.9 208 A 99| A 08
876 1,080 1,300 1,130 1,030
5-3 |BAE mTH7E205 868 (SE N1 600
20.0 23.3 204| A 13.1] A 88
387 415 480 450 450
5-4 |BABER —THI12ESS 99 E S 600
7.2 7.2 157 A 6.3 0.0
278 294 309 293 291
5-5 |HEEEl —TH6&HE21E 95 ¥ | #R5 | 400
45 58 51| A 52| AO07
453 544 654 628 628
5-6 |EHT =TH7&115 309 E S 600
15.3 20.1 202 A 40 0.0
329 379 445 421 420
5-7 |18E —TH4&188 290 CEES 53] 600
8.9 15.2 174 A 54, A 02
559 655 767 720 708
5-8 |BA{E =THS8EIS 151 B | [R5 | 400
17.4 17.2 171 A 61| A 1.7
N 422 491 573 536 530
5-9 |XAHE —TH6%H225 146 mE | 600
11.3 16.4 16.7] A 65| A 11
392 450 540 512 512
5-10 |#%JIl — TH11&205 299 ET | B 400
10.1 14.8 200 A 52 0.0
209 211 214 213 213
9-1 |KZEJN —THSHI1S 181 T | #RF | 300
1.0 1.0 14 A 05 0.0




(B8 )| X i 23 7R)

LB iZEIEE (FH/m) S
I S iy m T XRTELEEE(%) 2k E DR ER—
T E & K Hh B D
E = m| 30.1.1| 3111 211 311] 4141 . Brk | RIEE | B
30/29| 31/30 2/31 3/2 4/3 R (%) &5
. 202 202 204 201 202 .
-1 ) —ZTH15&165 109 1{ERE | #F5 | 200 -4
0.0 0.0 10l A 15 0.5
133 132 131 128 127
-2 |hE —TH13FI0E 138 1ERE | %R | 200
A 15| A0S A08 A23] A0S
169 171 173 171 171
-3 |lBE —THOHIIE 138 MEE | %85 | 200
0.0 1.2 12| A 12 0.0
146 148 149 147 147
-4 |K¥ —TH4FESHE 92 #T | %5 | 200
0.0 1.4 07] A 13 0.0
178 178 179 177 177
-5 | —THE3FI19E 72 1ERE | %R | 200
0.0 0.0 06] A 1.1 0.0
169 169 170 168 168
-6 |lEE ARTH6&HF19S 73 IR | %R | 200
0.0 0.0 06] A 12 0.0
181 181 182 180 180
-7 |FE —TH21&235 136 1ERE | %R | 200
0.0 0.0 06] A 1.1 0.0
182 182 183 181 181
-8 |[XK#¥EA ETH18%F165 199 MERE | %85 | 200
0.0 0.0 05 A 1.1 0.0
131 131 132 130 130
-9 | —TH25%55 195 1ERE | %R | 200
0.0 0.0 08 A 15 0.0
—————— 240 243 242 244
5-1 | —TH6&E3E 231 AR | #ER5 | 300
———————————— 1.3] A 04 0.8
286 290 296 293 293
5-2 |FAit —TH1%HE235 81 mEE | OB | 400
1.1 1.4 21l A 10 0.0
_ 125 125 125 124 126
9-1 |f2BT — T H6&36S 1,652 I% 200
0.0 0.0 00| A 08 1.6
136 136 136 135 137
9-2 |fH*E ATHIFZI4E 467 I% 200
—————— 0.0 00| A 07 15
121 121 121 120 121
9-3 | ETHOEII& 643 I% 200
0.0 0.0 00| A 08 0.8




GENIRX Al 23 7R) 1/2

LB iZEIEE (FH/m) S
I S iy m T XRTELEEE(%) 2k E DR ER—
F B & T i =11))
E = m| 30.1.1| 3111 211 311] 4141 o Brk | RIEE | B
30/29| 31/30 2/31 3/2 4/3 = R (%) &5
239 241 243 243 244
-1 |ZEXHE =TH14&2%5 182 MER | #F5 | 200 | -4
0.0 0.8 0.8 0.0 0.4
239 241 243 243 244
-2 |#HitE =TH6&HIE 177 2 | #ER5 | 200
0.8 0.8 0.8 0.0 0.4
208 210 212 212 213
-3 |Hrhm —TB3%I19% 100 1ER | %R | 300
1.0 1.0 1.0 0.0 0.5
176 176 176 176 177
-4 |+/)\E =THS8Z2E 61 1ER | %05 | 200
0.0 0.0 0.0 0.0 0.6
226 228 230 230 231
-5 |KJIFE ZTH8EFI25E 83 IR | %85 | 300
0.9 0.9 0.9 0.0 0.4
193 194 195 195 196
-6 [=FEEBI —THo%EI8E 103 IR | %R | 200
05 0.5 05 0.0 05
223 225 227 227 229
-7 [EX KRTHS8ZEI6E 101 1ERE | %R | 200
0.9 0.9 0.9 0.0 0.9
219 221 223 223 224
-8 |®HE=E ZTH25&105 115 1{ERE | #F5 | 300
0.9 0.9 0.9 0.0 0.4
215 218 221 221 222
-9 [A=E —THI16&F105 60 1EE | %[5 | 300
1.4 1.4 1.4 0.0 05
244 248 252 254 257
-10 |H=E WTH14%8% 109 EE | %R | 300
1.2 1.6 1.6 0.8 1.2
170 170 170 170 171
-1 |/ mTH2%&155 199 1ERE | %R | 200
0.0 0.0 0.0 0.0 0.6
260 260 260 260 259
5-1 |BB=FE =TH9E7- 58 R | %ER5 | 300
0.0 0.0 0.0 00| A 04
384 395 407 407 412
5-2 |+=Z®H —TH17EF195 276 mE | 400
29 29 3.0 0.0 1.2
278 281 284 284 286
5-3 |[IEZAX Z—TH28%F19%5 96 ¥ | R | 400
1.1 1.1 1.1 0.0 0.7
———————————— 690 630 624
5-4 |=R T H3H29S 793 mE | 600
A87] A10
262 262 262 262 263
5-5 |=R Z—THG&HI19S 74 HEE | [R5 | 400
0.0 0.0 0.0 0.0 0.4
. 239 247 255 255 258] . .
5-6 |FTe mTHR1&STS 453 #ER| %R | 300
3.0 3.3 3.2 0.0 1.2
655 7717 917 879 870
5-7 | E RATH7H171S 242 SE S 800
5.1 18.6 180 A 41| A 10
1,230 1,700 2,350 2,100] 2,060
5-8 |=ER =TH5%&24= 4507 mE | 600 | 5-3
11.8 38.2 38.2| A 106] A 19
262 262 262 262 263
5-9 |+=% =TH24%E65 50 % | £F5 | 400
0.0 0.0 0.0 0.0 04




GENIRX il 23 7R) 2/2

LB @S (FHA/m) A Hh
st jyh m T XRTELEEE(%) 2k E DR ER—
T B R T i3 =10))
E B m| 30.1.1| 3111 211 311 411 . Bk | RIEE (B
30/29| 31/30] 2/31 3/2 4/3 g | (%) |/
141 142 143 143 144
-1 |=ZEm =TBH7%&3% 743 I% 200
0.7 0.7 0.7 0.0 0.7
—————— 100 102 102 105
9-2 |+/\& =THI1%ES8S 1,533 I% 200

———————————— 20 o0o| 29




